Practice:  SEQUENCE AND SERIES






PART A   MULTIPLE CHOICE   
_____1. Determine the value of 
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  :             a. 81         b. 90        c. 99         d. 270

_____2. The following is a list of terms in an arithmetic sequence: 15, 21, 27, 33, …  Which of

              the following represents the general formula for tn
              a.  tn = 15n+6        b.  tn = 6n+9    c.  tn = 21-15n      d. tn=8n-3

_____3.  What is the value of r for the following sequence:   432, 360, 300, 250, ….

                a. -128          b.  1/2               c. 2/3                 d.  5/6

_____4. How many terms are in the following sequence: 8, 24, 72, …,  1417176
              a. 11             b. 12            c. 13           d. 14

_____5. What is the value of “a” in an arithmetic sequence that has t9= 16 and d=6
               a. 10  2/3                     b. -32                  c. -38                  d. 12      

_____6.  Determine t159  for       18, 20.3, 22.6, 24.9,  …  a. -347.7      b. 365.7    c.  383.7     d.  381.4
_____7. Determine the number of terms in the geometric sequence: 1/81, 1/27, 1/9, … 1594323
               a. 17            b. 18                 c. 19           d. 20
_____8.  Which of the following can be used to evaluate  
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____9. On the first day of the month, Michael places 5¢ in a jar. The next day, he places 7¢ in the 
                              jar. The third day, he places 9¢ in the jar, and so on for 24 days. What amount will be in the                      jar at the end of this period of time?
A.  $6.72                    B.  $6.96    C.  $6.36     D.  $6.12



______10. The population of a community was 82 000 at the beginning of 2000. Assuming a rate of  

                                 growth of 1.6% per year since 2000, what will the population be at the beginning of 2025?
A.  123894          B. 2082800         C. 121943                   D.  120023



____
11. Determine the sum of the infinite geometric series 11 + 11/3 + 11/9 + 11/27 + …
A. 33          B.  33/4       C>  33/2            D.  440/27
____
12.  What is the sum of the infinite geometric series  15 + [image: image7.png]
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+ …
A. -120        B. 135/17          C. 135/8         D> 135
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____
13. Determine the sum of the infinite geometric series with a =  2 and r = 
A.  1/3         B.  5/3       C. -1/2        D. 5/2

____
14. Which of the following best describes the series –50 + (-45) + (-81/2) + (-729/20) + [image: image10.png]


?
A.  The series is convergent and has a sum of -500   C.  The series is divergent and has no sum

B. The series is divergent and hasa sum of -500       D.  The series is convergent and has no sum
PART B

                           Do all questions on your own paper and show your work


1.
Consider an arithmetic sequence with [image: image11.png]


 and [image: image12.png]


.

a) Determine the values of a and d.

b) Determine an explicit formula for the general term of the sequence.

c) Determine the value of each term:  i) t12          ii) t26
d) Determine the term number of each term:  i) 9          ii) [image: image13.png]97




e) Determine S200

  2.
Consider a geometric sequence with  t5 = 162 and  t9 = 13122
a) Determine the values of a and r.

b) Determine an explicit formula for the general term of the sequence.

c) Determine the value of each term:  i) t3                     ii) t10
d) Determine the term number of each term:  i) 9565938            ii) 1458

e) Determine S10
3. List the first five terms of the sequence determined by :   
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4. Determine the sum of each series:

    a.  12582912 + 6291456 + 3145728 + 1572864 +… + 3    b. 24 + 30 + 36 + 42 + … + 12030  

5. a.  Given 
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, if the sequence is arithmetic find S300
  b.   Given 
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, if the sequence is geometric find S14
6. a.   Given the geometric series:  5+15+45+135+.....  find the infinite sum
    b.  Given the sequence 144, 96, 64, …find the infinite term and the infinite sum.


7
The value of an antique increases in value at a rate of 2.5% every year. In 2000, the antique was purchased for $5000.

a) Determine an explicit formula to represent the value of the antique since the year 2000.

b) Use your formula to write the first three terms of the sequence.

c) What was the value of the antique in 2008?

d) In which year will the value of the antique be $11 866?
8.  Find the value of [image: image19.png]
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. Be sure to show all of your work.

9.  Using sigma formulas evaluate:

a. 
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